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8.1 Graphing Simple Rational Functions

1.Tell the transformations that have been applied to the.graph of f{x) = z ~to produce the graph of
g(x). Give the equations of the asymptotes. Express the-domiain and range in set niotation. Sketch the
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graph of g(x).

2. Rewrite the function in gx)=a ((x wrY;

) +kor glx)s= ( ) + k form. Then tell the
b

transformations that have been applied to.the graph of f{x) = ; to produce the graph of g(x). Give the
equations of the asymptotes. Express the domiain and range in set notation. Sketch the graph of g(x).
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8.2 Graphing More Complicated Rational Functions

For 4-6, graph each rational function by finding the vertical asymptote(s), any holes, horizontal or
slant asymptote, and the x- and y-lntercepts
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Identify the excluded values foreach expression,
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Graph to solve the equation.
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Solve each equation algebraically. ’ M »H‘{**GF)
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Write a rational equation and solve,

9, The time required to deliver and instal] a computer at a customer's locationis {=4+ g, where tis
' r

time in hours, 4 is the distance, in miles, from the warehouse to the customer’s location, and r is the
average speed of the delivery truck. Ifit takes 6.2 hours for the employee to deliver and install a
computer for a customer located 100 miles from the warehouse, what is the average speed of the

delivery truck?
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